~
=
2
=
T
=
o
=)
=
O
e

Z.
=
7
—
-
o
a
:
=

1527-201

sofa Set - Black

Wicker -




1527-201 Knock sofa Set - Black Wicker - Grey Cushion PAGE 1/5

1set=1 pc three seater+2 pcs single chair+1 pc table+2 pcs ottoman

Artnr: No: Qty Art nr: No: Parts Qty
A 3 [1999-55420 M (7] 5
B 3 h999-5538) N < 2
C 2 1999-55400 QO % 1
D 2 1999-5543] P < ?
E 1 199955271 Q Q 1
)]
F 1 R M6X15 1 4
(0) yommmm
G 2 S voxss | 30
M6X60
| 2  1999-5529 U = 3
J 1 V 61
K 2 W [ 1
(0) D
T M6X30 1 1
Please kindly note that after assembled, Then tighten all the screws! If you feel it's hard to screw in. Please take back a
little, Then try again!
Tank pa att efter montering, dra sedan at alla skruvarna! Om du kdnner att det &r svart att skruva fast.Ta tillbaka lite, forsok
igen!
Bitte beachten Sie, dass nach dem Zusammenbau alle Schrauben festgezogen werden miissen! Wenn Sie das Gefuih|
haben, dass es schwierig ist, sich einzuschrauben. Bitte nehmen Sie ein wenigzurtick, dann versuchen Sie es erneut!

VENTURE DESIGN

HOME & INTERIOR



1527-201 Knock sofa Set - Black Wicker - Grey Cushion

PAGE 2/5

Artnr: | No: Parts | Qty | Artnr: | No: Parts | Qty
B 4 2 T 10
C = 2 1999-5529 v 22
D ] | 2 W ——| 1

1999-55421 |\ (7] 2

1999-5538) N < 2

Step3

%= |Step4

Please kindly notethat after assembled, Then tighten all the screws!

Tank pa att efter montering, dra sedan at alla skruvarna!

VENTURE DESIGN

Bitte beachten Sie, dass nach dem Zusammenbau alle Schrauben festgezogen werden mussen!

HOME & INTERIOR




1527-201 Knock sofa Set - Black Wicer - Grey Cushion PAGE 3/5

Artnr: No: Qty Artnr: No: Parts Qty
A 1 S | = | 10
B | [/ | 1 Y 3
- 1 1999-5529 U 3
1999-5542, M (7] 3 W [——| 1
1999-55400 (O % 1 X |[o— | 1
Step1 ‘%\ Step2
Y

Step3 %% |Step4

Please kindly notethat after assembled, Then tighten all the screws!

Tank pa att efter montering, dra sedan at alla skruvarna!

Bitte beachten Sie, dass nach dem Zusammenbau alle Schrauben festgezogen werden miissen!

VENTURE DESIGN
HOME & INTERIOR




1527-201 Knock sofa Set - Black Wicker - Grey Cushion PAGE 4/5

Artnr: No: Parts Qty | Artnr: No: Parts Qty
G | <7 | 2 R | s | 8
H | 7| 4 S | i | 8
1999-5529
1999-5543 P <> 2 W | 1
Step1 ¥ |Step2 k)
\\/
I
Step3 *w |Step4

Please kindly notethat after assembled, Then tighten all the screws!

Tank pa att efter montering, dra sedan at alla skruvarna!

Bitte beachten Sie, dass nach dem Zusammenbau alle Schrauben festgezogen werden mussen!

VENTURE DESIGN

HOME & INTERIOR



1527-201 Knock sofa Set - Black Wicker - Grey Cushion PAGE 5/5

Artnr: | No: Parts Qty | Artnr:| No: Parts Qty

Om

M6X15

1

“ﬂ 2 |1999-5529
1
1

| X | <

1999-5527 O}

M6X30

A AN o

R
Vv
W [
.

Step’ T\ |Step2

Step3 v |Step4

Please kindly notethat after assembled, Then tighten all the screws!

Tank pa att efter montering, dra sedan at alla skruvarna!

Bitte beachten Sie, dass nach dem Zusammenbau alle Schrauben festgezogen werden miissen!

VENTURE DESIGN
HOME & INTERIOR




